(lwsse) zo 14zl

J00d S}JJEd oL



Inner Door

Can Display, Cold Drink FLS, Dr Pepper (D3), Generic Round,
Veryfine Circular(0001-3194c0 to 0001-6169As), Veryfine/RC Inverted "L" Circular




Parts List - Inner Door

Can Display, Cold Drink FLS, Dr Pepper (D3), Generic Round,

Veryfine Circular(0001-3194c0 to 0001-6169AS), Veryfine/RC Inverted "L" Circular

Item Part Number Part Name and Description By Model Number
1 Inner Door Assembly
469,150,200.03 414/432/440/600
470,150,200.03 348/360/368/501
561,050,900.03 276/300 - Cold Drink FLS Only
456,150,200.03 276 - Dr. Pepper D3
495,040,200.03 180 - Cold Drink FLS Only
557,050,300.03 180 - Can Display Only
453,050,400.03 Dr. Pepper 414/432/440/600
454,050,200.03 Dr. Pepper 348/360/368/501
456,050,300.03 Dr. Pepper 276/300
459,050,300.03 Dr. Pepper 180
2 Inner Door Gasket
801,804,070.01 414/432/440/600
801,804,060.11 348/360/368/501
801,804,030.01 276/300
801,804,010.11 180
3 Knob
901,501,700.01 All Models
4a Discharge Frame Assembly (includes 4b & 4c)
801,806,920.01 All Models
4b Delivery Door
801,806,600.41 All Models
4c Discharge Frame
801,806,550.01 All Models
4d Retainer Frame Inner Door
801,806,560.01 All Models
Sa Inner Door Top Hinge, weld assembly
169,053,001.13 All Models
5b Inner Door Bottom Hinge, weld assembly
169,051,101.63 All Models
5¢c Plastic Bearing
901,803,710.01 All Models
6a Bushing-Inner Door
801,806,420.51 All Models
6b Bushing Retainer - Inner Door
801,806,430.31 All Models
7 Ground Wire, 4" (102mm) (not shown)
804,902,610.11 All Models
E3 900,201,230.11 Carriage Bolt /2 - 20 x 14"
A16 900,301,650.01 Screw, Phil Pan Sems w/washer #8 - 19 x /2"
Ad 900,301,500.01 Screw, Phil Plan w/out washer #8 - 18 X /2"
B1 900,800,650.01 Keps Nut #10 - 32
A15 900,201,140.11 Screw, Mach. Truss #10 - 32 x 2"

When Ordering Parts, Indicate Model # And Serial # Of Vender.
All Parts Numbers And Prices Are Subject To Change Without Notice.

0485




Inner Door

7Up (B7)




Parts List - Inner Door

Dixie-Narco

7Up (B7)

Item Part Number Part Name And Description By Model Number

1 inner Door Assembly
455,150,200.03 | 414/432/440/600
462,150,200.03 | 348/360/368/501
468,150,200.03 | 276

2 Inner Door Gasket
801,804,070.01 414/432/440/600
801,804,060.01 348/360/368/501
801,804,030.01 276

3 Knob
901,501,700.01 All Models

4a Discharge Frame Assembly (includes 4b & 4c)
801,806,920.01 All Models

4b Delivery Door
801,806,600.01 All Models

4c Discharge Frame
801,806,550.01 All Models

4d Retainer Frame Inner Door
801,806,560.01 All Models

5a Inner Door Top Hinge, weld assembly
169,053,001.13 | All Models

5b Inner Door Bottom Hinge, weld assembly
169,051,101.63 | All Models

5¢ Plastic Bearing
901,803,710.01 All Models

6a Bushing-Inner Door
801,806,420.51 All Models

6b Bushing Retainer-inner Door
801,806,430.31 All Models

7 Ground Wire, 4" (102mm)  (not shown)
804,902,610.11 All Models

A4 | 900,301,500.01 Screw, Phil Pan w/out washer #8 - 18 x 1/2"

A15 | 900,201,140.11 Screw, Mach. Truss #10 - 32 x 1/2"

A16 | 900,301,650.01 Screw, Phil Pan Sems w/washer #8 - 18 x 1/2"

B1 900,800,650.01 | Keps Nut #10 - 32

E3 | 900,201,230.11 Carriage Bolt #1/4 - 20 x 1 1/4”

—

When Ordering Parts, indicate Model # And Serial # Of Vender.
All Parts Numbers And Prices Are Subject To Change Without Notice.

0495



	Can Display, Cold Drink FLS, DP, Gen. Round, VF
	7UP

